MOTOR : GRUPO MONTAJE BOVBA DE ACEI TE

GRUPO MONTAJE BOMBA DE ACEITE

Rating: Not Rated Yet
Price:
Variant price modifier:

Base price with tax:
Price with discount:
Salesprice with discount:
Sales price:

Sales price without tax:
Discount:

Tax amount:

Ask a guestion about this product

Description Ref. Titulo Cadigo
1 EJE DE 7-15116
BOMBA
2 7-15100
3 TAPA ENG 7-15119
RANAJE
4 CUERPO 7-15111
BOMBA DE
ACEITE
5 TAPA 7-15112
BOMBA DE
ACEITE
6 ROTOR 7-15420
FILTRO DE
ACEITE
7 7-15121



https://www.cprrepuestos.com.ar/images/stories/virtuemart/product/grupo montaje bomba de aceite.jpg

MOTOR : GRUPO MONTAJE BOVBA DE ACEI TE

Ref. Titulo | cCodigo |
8 ROTOR 7-15114
INTERIOR
9 ROTOR 7-15115
EXTERIOR
10 7-15410
11 TAPA 7-15414
FILTRO
12 TUBO DE 7-15431
ACEITE
13 RESORTE 7-15432
ROTOR
14 7-22632
15 JUNTA 7-15415
TAPA
FILTRO
16 18-22621
17 TORNILLO
M6 X 30
18 TUERCA 7-22631
ROTOR
19 O-RING 9.4 | 7-15131
X24
20 TORNILLO
M5 X 20
21 TORNILLO
M5 X 12
22 TORNILLO
M4 X 12
23 SEGURO 7-15413
ROTOR

2/


http://www.tcpdf.org

